Implications of Integrations


Alright, so let’s look at the integration side of things. When you integrate a graph over a period of time you are basically finding the area under the curve. The definition of an are is, as you ought to know by now, length x width, or

A= LxW

You can look at this length times width as the x-axis times the y-axis. As mentioned before, you can us units with this. So, if you are looking at a velocity vs. time graph, the y-axis has units of meters/second and the x-axis has units of seconds. So, when you multiply the y-axis times the x-axis, you get meters because

Meters/seconds*seconds=meters

This means that when you take the integration of a velocity vs. time graph and you will get a displacement graph. Take a look at the example for a visual aid:
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